Assignment 3

Reference to context

4) ‘Hey, steady on or we will all fall of the tree!” Eugene warned.
Q a) Who else was on the tree with Eugene?

A a) Both Ashraf and Segune were on the tree with Eugene.

Q b) What is a warning? What made Eugene give this warning?

A b) A warning is telling somebody about something, which is
probably dangerous, so that it can be avoided. Eugene might have
given the warning because they were sitting up on the branch of a
mango tree and if they were not careful, they could fall off.

Q c) What did Segun say in reply to this warning?

A c) Segun said Ashraf would have to invent an instant parachute to
save them.

Read, reflect and write:

Q5) How did Eugene receive the news that Ashraf gave him? Woul d
you say that he was genuinely impressed? Give a reason to support
your answer.

A5) Eugene called Segun over after hearing Ashraf’s news during the
first break.

| do not think he was genuinely impressed because Ashraf had
claimed to have made two other inventions, his time machine and
his invisible radio wave, which did not work out.



